AR
Saps
Valko’s cards are
all different,

Valkowikzs card Ericks

There is a number
from 1 to ¥ on each
card.

He has chosen four
cards that add up
to R0.

What are Ekev?

. ' Th v
[TTTTTTT]  different possibitities.

What if Valto has three cards
add up to 167
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Valko’s cards are
all different,

Valkowikzs card Ericks

There is a number
from 1 to ¥ on each
card.,

He has chosen four
cards that add up
to 20,

What are Hr\e'j.?

i ‘ There are seven
[[]]] LLLF different possibilities,

What if Valko has three cards
add up to 167
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